690 DUKE ORANGE 2010 <2010><JP><9786J7>

MASK, FENDERS
8207

Pos Part Number Description Additional Text Quantity
1 7560800100083A HEAD LIGHT MASK SILVER MET. 1.00
2 0912060123 AH SCREW DIN0912-M 6X12 2.00
4 0012060164 AH SCREW DIN6912 M6X16 SL 2.00
6 75608001051 THERMAL PROT. FOIL F. LOW BEAM 1.00
7 75608001052 THERMAL PROT. FOIL F.HIGH BEAM 1.00
9 58412080100 REFLECTOR YELLOW '99 ONLY FOR USA 2.00
10 7500801300075A REAR FENDER ORANGE 1.00
11 7500804100040C SIDE COVER L/S+DECAL BLACK-MET 1.00
12 7500804200040C SIDE COVER R/S+DECAL BLACK-MET 1.00
13 54603048200 RANGE CHANGE METAL NUT M5 2.00
15 58605083014 Oval head screw M5x14 TX25 only for "R" 4.00




16 0017060203 EJOT PT SCREW K60X20 WS=6 MXC, EXC 2.00
17 75003075000 STORAGE COMPARTMENT 1.00
18 50303018000 RUBBER L=145MM 2.00
20 7560800300075A MASK SPOILER L/S ORANGE 08 1.00
21 7560800400075A MASK SPOILER R/S ORANGE 08 1.00
30 75012008000 HAND GRIP L/S 07 1.00
31 75012009000 HAND GRIP R/S 07 1.00
34 0081050121 EJOT PT screw K50x12 only for US and SixDays 11.00
35 0991080603 FLAT HEAD SCREW I1SO10642 M8X60 4.00
36 75003065000 SPACER SUB FRAME FRONT L/S 1.00
37 75003066000 SPACER SUB FRAME FRONT R/S 1.00
38 75003067000 SPACER SUB FRAME REAR L/S 1.00
39 75003068000 SPACER SUB FRAME REAR R/S 1.00
40 75608015010 COVER NUMB. PLATE CARRIER 08 1.00
41 75608015000 NUMBER PLATE CARRIER 1.00
42 0021060003 Washer DIN9021-A 6.4 ONLY USA 7.00
43 0025060306 HH collar screw M6x30 TX30 2.00
44 0025060206 HH collar screw M6x20 TX30 1.00
50 60012081200 license plate mouning plate FOR AUS ONLY 1.00
51 0024060156 HH collar screw M6x15 TX30 ONLY USA 4.00
53 0985060003 Self lock. nut DIN985-M6-A2 4.00
54 0966050163 OVAL HEAD SCREW DIN0966-M 5X16 2.00
55 40006006000 WASHER 6MM 2.00
56 0125050003 WASHER DIN0125-A 5,3 2.00
57 0985050003 Self locking nut DIN 985 M5 2.00
58 58412080000 REFLECTOR RED EU+AUS 1.00
59 58412080050 BRACKET FOR REFLECTOR 1.00
62 62512081000 BRACKET SIDE REFLECTOR 06 ONLY FOR USA 1.00
63 16512180100 SIDE REFLECTOR RED REAR ONLY FOR USA 2.00
64 76503075100 EXPANDING RIVET CPL. 6.00




